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QUESTION 1

Which are two reasons perimeter-based network security is no longer sufficient? (Choose two ) 

A. more vulnerabilities 

B. more IT professionals 

C. more networks 

D. more devices 

E. more users 

Correct Answer: AD 

 

QUESTION 2

Which two attack vectors are protected by Visibility and Enforcement? (Choose two.) 

A. Mobile 

B. Cloud 

C. Email 

D. Web E. Endpoints 

Correct Answer: CD 

 

QUESTION 3

Which option is a challenge that is often faced by small businesses when considering security solutions? 

A. Enterprise-level firewalls 

B. Limited budget 

C. Large numbers of overseas employees 

D. Solutions that lack email security 

Correct Answer: B 

 

QUESTION 4

Which network security product provides a unified image on an intuitive interface? 

A. Next-Generation Intrusion Prevention System 
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B. Advanced Malware Protection 

C. Cloudlock 

D. Firepower Threat Defense 

Correct Answer: B 

 

QUESTION 5

What are two key Cisco loT use cases? (Choose two.) 

A. Mobile Utilities 

B. Financial Institutions 

C. Parks and Recreation 

D. Industrial Security 

E. Connected Health 

Correct Answer: BE 

700-760 VCE Dumps 700-760 Practice Test 700-760 Braindumps

Powered by TCPDF (www.tcpdf.org)

700-760 VCE Dumps | 700-760 Practice Test | 700-760 Braindumps                                3 / 3

https://www.passapply.com/700-760.html
https://www.passapply.com/700-760.html
https://www.passapply.com/700-760.html
http://www.tcpdf.org
https://www.passapply.com/700-760.html
https://www.passapply.com/700-760.html
https://www.passapply.com/700-760.html

